=R T AR @ F(// w7 1 A\ T

L ULec-UL & |

Recognized

Through-type Terminal Block

E v F_./Pitch 27mm

Einl]
T;Se Num%er UF2087NE'PKPCT
T & 100A (M6)
Rating ACB00V 1504 (M8)
FEfR AL 500V 1000MQ KUk
Insulation Resistance DC500V  1000MQ and over
it & 3000V 1 ofEldE
Wlthstands Voltage AC3000V 1 minute and over
EE B 3 10AWG (M 6))
Compatible Wire -4AWG (M8

—#& N7/ General Tolerance +0.5
‘ REE/Scale /4 HAL/Unit mm ‘

36

® Factory wiring (M6, M 8)

® 74— FTAYY 7 (M)
® Field wiring (M8)

O o L L — \tx |
® Ordering Form : Type No. Screw Dmmeter No. of Poles (P)
OEMYE A LAY ML 2 12 M623.0N*m, M82%6.6N'm T¥ o (M6 LU M8HH ) T OTHIRET S\)
® Connection screw : Tightening torque is M6 :3.0N-m, M8 6.6 N-m. (Specify either M6 or M8 for a connecting screw)
® 1 N— R UEL ﬂmivw TarviBh)EFTOTIHEOBIEL T EOKBIZ-PCTE 72IZPKTE HIFLA T E v,
ﬁff—&vuﬂﬁ%%ﬂfi VBT ORISR R R |2 e LA T E
1ELﬁ/f—&l)‘uﬂgﬂ%n’rﬁli(ﬁﬁfﬂ)\c‘: = ET, "-PKPCT"
® A cover and the marking strip is optional. To obtain one, add “PCT”or“PKT” at the end of the ordering form.
To obtain a cover marking strip, and”*meeed at the end of the ordering form. 3¢
A cover and the marking strip will be delivered separately. ’
o filik LM (W) B —FBHRM, BT — & —WERMmEIUE, — e,
® Application : Commercial appliances, including business equipment, electronic data processing equipment, etc.
and general industrial.

B4, Specifications.

&%/ Part No. % #Part Name # B, Material #1&,Standard stk /Size I8/ Treatment fis %,/ Remark
1 Tl - (A) Base (A) RUH—RAA Polycarbonate UL H {5 Black
2 T - (B) Base (B) RUH—RAAL Polycarbonate UL B f  Black
3 o - Base (C) RUH—R KA Polycarbonate UL B f5 Black
4 SEFEA Terminal W 4§ Brass C2680P W OE 1 2.0 | =97 WAvF Nickel-Plaed
5 [ Screw S B C2700W MBS 135 515 2| S T it | B, Sw 11 A A Tobe
6 vk Nut B steel SWCH M6X1.0 | =y by NickelPled | FHR 7 MO OISET
7 EFERIV I Connecting bolt 8  steel SWCH M4 X0.7 ZHIA- Trivaent Chromate Teatment F X
8 ST A Marking strip | RUA—R AR Polycarbonate UL WO 1.0 H f White 47 a ¥ Optional
9 71N — Cover A=K AAF  Polycarbonate UL MOE 2.0 |& W Transparence | 4 73 =3 ¥ Optional
10 JiN=1EE A Cover Retaing screw #§l Brass C2700W PW. gﬁ;ﬁ%\iﬁs i ) | =77V AY% Nickel-Plaed | #7732 ¥ Optional
11 AR Spacer W Bras ca6028 ZyPhAZ% NikelPlied | MEERH Ui MS

%, Poles 1P| 2 | 3 |4 |5 |6 |1 8 |9 | 10|11 | 12|13 |14 ] 15

A 57 | 84 | 111 | 138 | 165 | 192 | 219 | 246 | 273 | 300 | 327 | 354 | 381 | 408 | 435
B 44 | 71 | 98 | 125 | 152 | 179 | 206 | 233 | 260 | 287 | 314 | 341 | 368 | 395 | 422
(] 31 | 58 | 8 | 112 | 139 | 166 | 193 | 220 | 247 | 274 | 301 | 328 | 355 | 382 | 409

547





